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TGT Computer Science 

Q 1). Recently, President Droupadi Murmu has renamed the Durbar Hall of Rashtrapati 

Bhawan. What is the new name of the Durbar Hall? 

(A) Kirti Mandap 

(B) Prasad Mandap 

(C) Ganatantra Mandap 

(D) Gandhi Mandap 

Correct Answer: (C) 

Q 2). Recently, 4th Capacity Building Program for the Civil Servants of the Socialist Republic 

of which country has commenced at NCGG, Mussoorie? 

(A) Sri Lanka 

(B) Mauritius 

(C) Madagascar 

(D) Seychelles 

Correct Answer: (A) 

Q 3).  Recently, which of the following typhoons has pummeled Japan? 

(A) Biparjoy 

(B) Yagi 

(C) Shanshan 

(D) Mocha 

Correct Answer: (C) 

Q 4). Students identify the sub concepts from the generalization in which of the following 

phases of concept mapping? 

(A)  Propositional Phase 

(B)  Application Phase 

(C)  Closure Phase 

(D)  Presentation of Abstraction 

Correct Answer: (D) 

Q 5). In which stage, children are able to think about things in terms of consistent physical 

features? 

(A) Sensory Motor 

(B) Concrete Operational 

(C) Pre-Operational 

(D) Formal Operational 

Correct Answer: (C) 
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Q 6). Which of the following is not the main feature of RTE Act? 

(A) Free Elementary Education for all children in age group 6-14 years in a neighbourhood 

school. 

(B) Completion of Elementary Education even after fourteen years of age. 

(C) Private Tuitions by teachers is not prohibited. 

(D) No child is denied admission due to lack of age certificate. 

Correct Answer: (C) 

Q 7). Flash drive is plugged into the __________ port of a computer. 

(A) HDMI 

(B) SERIAL 

(C) USB 

(D) PS2 

Correct Answer : (C)  

Q 8). A ___________ is a vector graphic printing device. 

(A)  Plotter 

(B)  Dot Matrix Printer 

(C) Resolution Graphics Printer 

(D) Daisy Wheel Printers 

Correct Answer : (A) 

Q 9). Which of the following tag is an empty tag used to insert a single line-break in HTML? 

(A) <br> 

(B) <a> 

(C) <pre> 

(D) <b> 

Correct Answer : (A)  

Q 10). In excel to select random multiple cells, hold down ______ key as you click on each 

cell. 

(A) Alt 

(B) Shift 

(C) Ctrl 

(D) All of these 

Correct Answer : (C)  
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Q 11). In computer booting process, the full form of POST is _____________. 

(A) Power Only Secure Testing 

(B) Power On Self Testing 

(C) Power Only Systematic Testing 

(D) Power On Shell Testing 

Correct Answer : (B)  

Q 12). A computer language that is written in binary codes only is _____. 

(A) Pascal 

(B) Machine Language 

(C) C 

(D) C# 

Correct Answer : (B)  

Q 13). Which one of the following is not a blogging platform? 

(A) WordPress 

(B) Google Sheet 

(C) Ghost 

(D) Wix 

Correct Answer : (B)  

Q 14). Which of the following techniques can be used to allow only a date value in cell? 

(A) Data Formatting 

(B) Data Sorting 

(C) Data Filtering 

(D) Data Validation 

Correct Answer : (D)  

Q 15). Which of these is an example of an e-governance website? 

(A) amazon.com 

(B) cbse.nic.in 

(C) india.gov.in 

(D) brainly.gov.in 

Correct Answer : (C)  

Q 16). ___________ are interchangeable modules which store subscriber and wireless 

provider information. 

(A) 1G 

(B) 2G 

(C) GSM 

(D) SIM 

Correct Answer : (D)  
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Q 17). <IMG> is an empty tag which means ___________. 

(A) it does not have opening tag 

(B) it does not have closing tag 

(C) it does not support any attribute 

(D) None of these 

Correct Answer : (B)   

Q 18). Which of the following tag is used to specify the table headers? 

(A) TH 

(B) CAPTION 

(C) TR 

(D) TD 

Correct Answer : (A)  

Q 19). In Python output of the statement 3*2**3 is ___________. 

(A) 12 

(B) 36 

(C) 24 

(D) 216 

Correct Answer : (C)  

Q 20). A variable Str is assigned value by writing Str=’PYTHON’. What will be displayed by 

printing Str[-2] in Python? 

(A) P 

(B) Y 

(C) O 

(D) Error 

Correct Answer : (C)  

_____________________________ 

 

 


